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PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Instructions regarding filling of OMR Sheet are | =

mentioned on the OMR Sheet only.

PRIN&E
‘G’ lympiad

A . .

The duration of the exam is 12 Hours.

3o, ofte avafeerd fricer stum.3e. ofte W fered 21

o Udlen 3mafi 114 gue &

The Question Booklet consists of 100 Questions,
each with 4 Marks. The maximum Marks are
400.

Subject-wise division of 100 Questions are as
follows: Physics-30, Chemistry-30, Biology-30

e Ulen YRl # 100 T 3 aol Ucdld W 4 3l &l

2 | ifércad 3icb 400 E 1
@ B 100 Ul @I fawaar fddeun s ueR 2 : Wifds

& MAT-10.

response to each question.

Question Booklet.

&  Candidates will be awarded 4 Marks for the
indicated correct response to each question.

&  One mark will be deducted for the incorrect

®  Space for rough work is also provided in the | &

fasTH-30, 2aRH fasi-30, sia fasiF-30 30 aFfas
TloTd wleiul-10 e |
@ Yl U Ol Jsl 3ae &I TR 4 31 UcH fapel STiot |

@ JTdd 3ae ¢oIf<t U ufd 1o 1 3ic dler R |

Ulen Yfeddmi # b i & fere 4t 3icior A 5ot Q1 okt
2

— " PHYSICS)————————

01. The number of significant figures in 0.06900 is: | 01. 0.06900 # Wi 3kl =i de 2=
(D5 (2) 4 | (D5 (2) 4
(3)2 ()3 (3)2 ()3
02. A body travels a distance s, with velocity v, and dis- | 02. TH =% vléw ¥ 7fq =% gT s, EUGEICTG 2 3R v,

tance s, with velocity v, in same direction. Calculate
average velocity of the body.

(Sl + SZ)VIVZ

I
I
I
I
I
I
I
_ V2 I
I
I
I
I
I
I

o W s, T W e H @ e ¥ S g s
3 Erm

(Sl +Sz)V1V2 ViV,

M SV, 18,V @ 8V, T8,V M S, v, +8,v, @) SV, +8,v,
(Sl _Sz)Vlvz v, +V, (S1 _SZ)VIVZ v, +V,
©) $1V2 =8,V “ 2 ) SV, —S,V, ) 2
Space for Rough Work
PCP, sikar  Class:X1/Q-7 I IT-JEE | NEET | OLYMPIADS 1
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03.

04.

05.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

The block of mass ‘m’ moving on the frictionless hori- l 03. T&F ‘m’ THAH T ik T SHURsd Qfas a8 9 fd

zontal surface collides with the spring of spring con- |
stant ‘k” and compress it by length “L’. The maximum |
momentum of block after collision. |

2

(1) zero 2) K
KL’
(3) VMKL C)) M

The blocks A and B of masses 3m and m respectively
are connected by massless and inextensible string. The
whole system is suspended by a mass less spring. The
magnitude of acceleration of A and B immediately after
the string is cut are

(Dgsg

()2, g2

D3,
You measure two quantitiecs A=1.0m+02m, B=2.0

m + 0.2 m. We should report correct value for /AR as:

(1HD14m+04m
2)141m+0.15m
3)14m+03m

I
I
I
I
I
I
I
I
I
I
I
I
I
I
|
(2)g/3, 8/3 I
I
I
I
I
I
I
I
I
I
I
I
I
#H14m+02m I
I

04.

05.

F L@ 2 a9 T T fradis k& O 9 R
2 foo8 =% L oed o Gepiad B B Al =i w6l
THR & A5 ARIFHIH T F B

2

(1) zero 2) K
KL’
(3) VMKL C)) M

T =ik Ad B S 599 3m & m ¥, T FoAArEd
A= o ¥ 92 gu ¥ 7% Tl R O SR
oM ¥ Tewt gan 3 I <w AT B A W R
Fe FE % QA S @O FHI GRHATT B

(Dgsg
(2)g/3,2/3
(3)g/2, g2

4 g3, g
FURE I AT A=1.0m+02m,B=2.0m+02m
Bl o JAR F foIT W&t o g =

(1HD14m+04m
2)141m+0.15m
3)14m+03m

#H14m+02m

Space for Rough Work

PCP, Sikar

Class : XI/Q-7 I

IT-JEE | NEET | OLYMPIADS 2
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06. Aball ‘B’ is at 300 cm distance from origin on a line | 06. TH I ‘B’ 4faS 9 37° W A a5 ¥ 300 em 3q W

37° above horizontal. Another ball ‘A’ is projected di-

rectly aiming ‘B’ with initial velocity 700 cn/s. At the |
same Instant ‘B’ is relased from its position. How far |
will ‘B’ have fallen when it is hit by ‘A’? |

>
(1) 90 ecm (2) 80 cm
(3) 70 cm (4) 60 cm

07. Abody of weight 2 kg is suspended as shown in figure.
The tension T, in horizontal string (in kg - wt) is:

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
60° |
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

07.

T @ W fom 2 THY 7T ‘A” 700 cm/sec F RIHR
MY ‘B’ H F H WFE Bkl et § S G0 B A
ST feafd o g sig W1 21 374: 5 B’ 1 9 g
Iad g0 TG FU T A R R/ ?

>

(1) 90 ecm (2) 80 cm

(3) 70 cm (4) 60 cm

T 2 kg YR 1 g 1 TEEIGER wehrn T 21 faw
af # T T, (in kg - wt) 5 B

60°
T, .
T, T
[ oe-w ] ok
2 NG ) 5
)7 2) — — N
DN 2 Oy @
2 3 2 3
&3 @3 G 3 @ 5
Space for Rough Work
PCP sSikar  Class:xi/Q-7 I IT-JEE | NEET | OLYMPIADS 3
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08.

09.

10.

11.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

In the given figure, a mass of 4 kg rests on a horizontal | 0s. fau e foet § 4 kg 1 oA Sfas qe W fer wn T

plane. The inclination of plane is gradually increased. The
mass just begins to slide at 6 = 15°. What is coefficient of |
static friction between the block and the surface.

mass

(1)0.50
(3) 0.85

) 0.27
(4) 0.60

A particle moves along a straight line such that its dis-

placement at any time °t° is given by,
s = (t? — 6t2 + 3t + 4) m What is the velocity of particle

when its acceleration is zero .

(1) 9 m/s 2) -9 m/s

(3) 6 m/s
A force applied by an engine of a train of mass 2.05 x

10° kg changes its velocity from 5 m/s to 35 m/s in 15

minutes. The power of engine is:

(1) 1.36 hp
(3) 136w

(2) 1.36 Mw
(4) none

In a ballistic demonstration a police officer fires bullet
of mass 100 g with a speed of 25 m/s on a wooden

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
(4) -6 m/s :
I
I
I
I
I
I
I
I
I
block of thickness 4 cm. The bullet emerges with only |
I

I

I

I

I

I

09.

10.

11.

2| a1 I G MR 951 @ 8 a8 soadm i
6 =15° 4 fruer & g7 21 31: ciieh o §ag el &

= Wi sor sk w1 AE
15°

(1)0.50 (2)0.27

(3)0.85 (4) 0.60

T U WX W@ H 39 YRR TG e @ T fwe e
‘T TR s = (- 6 + 3t + 4) m B SH T TH
T T AT AT BN, S @] I B

(1) 9 m/s 2) -9 m/s

(3) 6 m/s (4) -6 m/s

T el TSR 55| 2.05 x 105 kg @ W T I9
A O @1 8 T gEh1 A7 5 m/s § 35 mys, 15 §RvS
o B Sa1 ® 3T 39 W1 w9

(1) 1.36 hp (2) 1.36 Mw

(3) 136w @) =™ 9 FE T

TF WS H gferd 3ThR 4 9 e & THEl & Al
T 100 TH 5589 1 et 25 m/s & 31 9 SF7aT & et
ST URft Ifae Sl # 20% 9 & el et ©

20% of its initial kinetic energy. What will be the emer- qt et FY AR e & F ent
gent speed of the bullet?
(1) 12.1 m/s (2) 14.1 m/s (1) 12.1 m/s (2) 14.1 m/s
(3) 11.8 m/s (4) 13.1 m/s (3) 11.8 m/s (4) 13.1 m/s
Space for Rough Work
PCP sikar Class : XI/Q-7 I IT-JEE | NEET | OLYMPIADS 4



www.princeeduhub.com | priNcE oLympiaD ExaMinaTion | o PcP i

12. AB is a frictionless inclined surface making an angle of | 12. T SHORfE qof AB &fas ¥ 30° i1 W Rl g3 2

30° with horizontal. ‘A’ is 6.3 m above the ground while | 5 ‘A ¥ ¥ 6.3 m IR 2941 ‘B’ 3.8 m SN 31 TH
‘B’ is 3.8 m above the ground. A block slides down | =Afeh Teer oraeen 4 fag A9 fpeer g& ea 2
from A’ initially starting from rest. Its velocity of block | sAf® w1 fa=g ‘B’ 4T UgHAd U AN L

on reaching ‘B’ is:

A

6.3m 6.3m
N B
38m
(1) 7 m/s (2) 14 m/s (1) 7 m/s (2) 14 m/s
(3) 7.4 m/s (4) 4.9 m/s (3) 7.4 m/s (4) 4.9 m/s

13. 3 599M 8 kg AT 4 kg T =601 Ed Yeft | TH Wl
as shown in figure over a frictionless pulley. The accel- w1 eI 9 98 2| o7d: TR/ 1 @RoT g

I
I
I
I
I
I
I
I
I
I
I
I
I
13. Two masses of 8 kg and 4 kg are connected by a string I
I
cration of the system is (g=10 m/s?: I (g=10 m/s?

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

8 kg 8 kg
4 kg 4 kg
300 30(\
(10 () 4 m/s? (10 () 4 m/s?
(3) 3 m/s? 4) -2.31 m/s? (3) 3 m/s? 4) -2.31 m/s?

Space for Rough Work

PCP sikar Class : X1/Q-7 I IT-JEE | NEET | OLYMPIADS 5
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PRINCE OLYMPIAD EXAMINATION

14. Which of the following curve does not represent l 14. feuww =l § e ww-fodia fd =1 wefifa =2 s

15.

16.

17.

motion in 1-D.

VA A
(1) (2) O
>t —
VAJ vA
3) C))
—eey .QWQ_»t

The width of river is 1 km. The velocity of boat in still
water 15 5 km/h. The boat covered the width of river in
shortest time.

1
—h
@ 3
(3) %h 4) 1h

A force vector applied on a mass is represented
as F - 61— 83 +10k and accelerates with 1 m/s2. What
will be the mass of the body

(1) 10v2kg ) 210kg
() 10kg (4) 20 kg

A lift of mass 1000 kg is moving with an acceleration of
1 m/s? in upward direction, then the tension developed
in the string which is connected to lift is:

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
1 :
) 5h |
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

B 2pcr N

2

VA VA
(nH ) O

>t = 5

VAJ VA
® 4
NN N 2

15. TH & H "ie’ 1 km 21 @ 1 A R so o

16.

17.

5km/h 2| 9 18 &1 | G99 FH GHI H IR FE 2

1 1

= Zh
() Sh @ z
(3) %h 4) 1h

T& 3999 WX @MY ¢ TH dd §&I Hi
F=6l—8]+10k ® &9 # gafar 1 # 3R 1 m/s?s
Y @R B B A% 1 oA 1 EAT-

(1) 10v2kg ) 210kg
() 10kg (4) 20 kg

1000 kg 579M &1 T fa® 1 m/s? & @R ¥ IW &
AR W W R A T g qE Sl | a e Se =im

(1) 9800N (2) 10800 N (1) 9800N (2) 10800 N
(3) 11000N (4) 10000 N (3) 11000N (4) 10000 N
I
Space for Rough Work
PCP sikar Class : XI/Q-7 I IT-JEE | NEET | OLYMPIADS 6
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PRINCE OLYMPIAD EXAMINATION

B 2pcr N

18. A train of 150 meter length is going towards north l 18. 150 X s &1 T @Mel 10 m/s & a7 § 3aR
direction at a speed of 10 m/s. A parrot flies at the feam ® 1 @ B ww d g & TR 5 HeUSHTS
speed of 5 m/s towards south direction parallel to railway | @ o1 | 3fegor fEem i AR 3 @ 21 e g1 & IR A
track. The time taken by the parrot to cross the train is: | ¥ dd g forn T wgma gh-

(1) 12 sec (2) 8 sec | (1) 12 sec (2) 8 sec
(3) 15 sec (4) 10 sec : (3) 15 sec (4) 10 sec

19.  Water falls from a height of 60 m at the rate of 15 kg/s | 19. T T A = F T 60 WX W FAE T 15 kefs
to operate a turbine. The losses due to frictional forces | T R Y I R @I 2T TS FY I W 10%
are 10% of energy. How much power is generated by | 1 B B STt 21 e g fehemt St Sea= Bt
the turbine. (g = 10 m/s?) I (e = 10 m/s?)

@ 1ske @10k | @rse @0k
3 kw 0 kw | 3 kw 0 kw

20. At the uppermost point of a projectile, its velocity and | 20. Teh JIS & I=aad fag W AT qO1 RO & T R0
acceleration are at an angle of: | L
(1) (2) 45° | (1) (2) 45°
(3) 9° (4) 180° I (3) 9° (4) 180°

21. Two particles A and B are connected by a rigidrod AB. | 21, T% 38 8§ ABY T %01 AT BYE U 31 98 THTEA
The rod slides along perpendicular rails as shown in | Ty & TR FeeeR frerdt 2
figure: :

I
-« A : -« A
The velocity of A to the left is 10 m/s. What is velocity | AT A 3R 3 10 HeyEETE 3 @ B A 20, 9
of B when angle a = 60° I I 0= 60° T
(1) 10 m/s (2) 9.8 m/s | (1) 10 m/s (2) 9.8 m/s
(3) 5.8 m/s 4) 17.3 m/s | (3).5.8 m/s (4}) 17.3 m/s

22. Which of the following is a dimensional constant. | 22. s @ = faia frrdie 2-

(1) relative density (2) gravitational constant | (1) |rdfeer s (2) TEa FadiF

(3) refractive index  (4) poisson ratio I (3) TUSHIF (4) wigg foafd
Space for Rough Work

PCP sikar Class : XI/Q-7 I IT-JEE | NEET | OLYMPIADS 7
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23.

24.

25.

26.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

. . o I
A force acting on an object varies with distance x as | 23. Torelt a5 W TF T4 gh % WY FogER 95a @ 2

shown in figure. The force is in N and x is in m. The |
workdone by force in moving object from x=0tox =6 |

mis:

x(m)
(1) 187 (2)135]
(3) 91J @ 45]
If ZE:IZXE , then angle between j and 7 is :
(1) 30° (2) 45°
(3) 60°

The speed of a projectile at its maximum height is half
of its initial speed. The angle of projection is .

(1) 60°
(3) 30°

(2) 15°
(4) 45°
The length of second hand of a watch is 1em. The
change in velocity of its tip in 15 seconds in cm/s

1S ;-

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
(4) 90° I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

24.

25.

26.

TA ST H OB AN T (x) WX H B A I A
x=0d x=6mdF o WM H 91 g0 ToFan 7 = =

WF=——————-

° T 2 5 6 x(;)
(1) 187 2)1351]
(3) 9] 4) 457
Ife ZE:IZXEI,HH 7 aen E% T&F K0T -
(1) 30° () 45°
() 60° (&) 90°

ot v =it sifereRraw SaE W Ifa SHeR! uRfae
I oeft B St € T e O B o

(1) 60° (2) 15°

(3) 30° (4) 45°
qma@aﬁﬁwgajaﬁmﬁ lem. ® 15 ¥ ¥
TEHT AHk H A H giEdd (WA wfd wke H)
BT

T2
(1) zero ) 7r3\é5 (1) zero ) 20
T 2r K 2r
® 35 @ 305 & 30 @ 303
Space for Rough Work
PCP, sikar  Class:Xi/Q-7 I IT-IEE | NEET | OLYMPIADS 8
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27.

28.

29.

30.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

The horizontal range of a projectile fired at an angle of 127, 1503 =m T MY HES T A W 50m. ? 9

15°1s 50m. If it is fired with the same speed at angle of |
45°, its range will be .
(1) 60 m

(3) 100 m

2)71m
4 141 m
Forces of action and reaction never cancel each other

as they are .

I
I
I
I
I
I
(1) always equal :
(2) always opposite |
(3) acting on same body |
(4) acting on different bodies I
Three blocks with masses m, 2m and 3m are |
connected by strings, as shown in fig. After an upward |
force F is applied on block m, the masses move |
upward at constant speed V. What is the net force

on the block of mass 2m ?

(1) 6 mg (2) zero
(3) 2 mg (4) 3 mg
A particle will leave in a vertical circle of radius r, when

its velocity at the lowest point of the circle (V)) is .

28.

29.

30.

T 45°F TV W TAE 1A § A € @ IEHT A
™Y B

(1) 60 m (2) 71 m

(3) 100m (4) 141 m

i oiR wfafran s+ = & T = e T
L, S| T 3R

(1) THIM TR

(2) Ten fauda

(3) T T ag W FEA

(4) Ta=-To=1 =egeil W =/ 3 2|

q =ik fSFehT SomM 2m den 3m 8 UF oAl i
FErd U 9 €, < m T SEEE S H AR Fue
STRIfYT & W Tt 59 F=a a7 VI 3R & 3R
T A B 3@ 2m KAHM % wAlh T GROTH S
BT 7

(1) 6 mg (2) zero

(3) 2mg (4) 3 mg

T U1 ¢ A ® el g9 0 siel W @ 9 #
fretaw fomg oU =01 &1 AW (V) B -

(D) 2er (2) 5er (D) 2er (2) 5er

(3) g (4) J6gr (3) Bgr (4) J6gr
Space for Rough Work

PCP sikar Class : XI/Q-7 I IT-JEE | NEET | OLYMPIADS 9
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PRINCE OLYMPIAD EXAMINATION

F =pcer i

E@EMMRUE

Let mass of electron is half, mass of proton is two times | 31. 4% ol & SeA9M YT X 3, W &1 |
and mass of neutron is three fourth of original masses, | AT 7 3R =2 1 SAAM A SAM HT A e
then new atomic weight of O'¢ atom : | 2 06 = T T 99X
(1) increases by 37.5% (2) remains constant : (1) 37.5% =g < (2) sTufafda gmem
(3) increases by 12.5% (4) decreases by 25% | (3) 12.5% =g < (4) 25% =12 ST
32.  Which of the following pairs of ions are isoclectronic | 32. = #H¥ TGN YT T AHECERM T8 HHEEATH
and isostructural ? | 272
(1) Clo;,cor ) SOZ’ NO; I (1) Clo;,cor ) SOZ’ NO;
(3) Clo; 507 (4) CO;,S0; | (3) Clo; 507 (4) CO;,S0;
33. Ifnumber of protonsin x 2 is 16, then no. of electrons | 33. afg X ¥ HeH &1 9e& 16 % Fﬁ X" o SolR &
in y+2 will be :- | e B o-
(1) 14 ) 16 | (1) 14 ) 16
(3)18 (4) None I (3)18 (4) =+ T
34. Molarity of pure water is :- | 34. s I HI HERd 2
(H1M (2)555M | (H1M (2)555M
(3)27.7M 4)80.5M | (3)27.7M 4)80.5M
35. Which has lowest electron affinity ? : 35. foruet soiggi= sy frefae g 2 2
(o 2)S (o 2)S
(3) Se 4) Te : (3) Se 4) Te
36. Which of the following species has the shortest bond | 36. 1= & @ fg wfiefis 1 s A€ g9 %1 @
lenght ? |
(1) N; @) N : (1) N; @) N
(3) N, ) N7 | (3) N, ) N7
37. Shape of X¢F, is - | 37. XcF, &t oThfd 2
(1) Tetrahedral | (1) ITFARE
(2) Square planar | (2) = FHAEE
(3) Square pyramidal l (3) =t i
. . I
(4) trigonal Pyramidal | (4) Fr=ri ffaea
Space for IRough Work
PCP sikar Class : XI/Q-7 I IT-JEE | NEET | OLYMPIADS 10



38.

39.

40.

41.

42.

43.

44.

atoms ?
(1) 1 gm. of Ag (At. mass = 108)
(2) 1 gm. of Mg (At. mass = 24)
(3) I gm. of O, (At. mass = 16)

(1)1 79 Ag (THM] 91 = 108)
(2) 1 ™ Mg (T0H] 9K = 24)
(3)1 T O, (WHY TR = 16)

www.princeeduhub.com | priNcE oLympiaD ExaMinaTion | o PcP i
Among the following the element having highest I 38. =1 © SeuawW M Wl qOn e gelei
ionisation enthalpy as well as positive electron gain en- | e Tl A aed e §
thalpy is : |
() H ) F : () H ) F
(3) He (4) Na | (3) He (4) Na
Which one of the following pair of compound illustrate | 39. 5% % & PIH AT b1 Z YOI STUTCT b {24 bl
the Law of multiple proportions ? | oI & —

(1) H,0, Na,O (2) MgO, Na 0 : (1) H,0, Na,O (2) MgO, Na 0
(3) Na,0, BaO (4) SnCl,, SnCl, | (3) Na,0, BaO (4) SnCl,, SnCl,
The ratio of Energies of H - atom for first and second | 40. H - URHTY] &1 Uil T GENT ST 37T Bl Gl 3t
excited state is : | BT AT BRI —
(1) 4/1 Q) 1/4 I (1) 4/1 Q) 1/4
(3)4/9 (4)9/4 | (3)4/9 (4)9/4
The maximum number of electrons in a p-orbital withn | 41.  p-®&TdH S® folU n=6TAT m =02 IHH 3rerdHa
=6 and m = 0 can be : | SAdC @1 W g —
(1) 14 )6 I (1) 14 )6
(3)2 4) 10 | (3)2 4) 10
The law of triads is applicable to : | 42. 2% &1 faw feaa forg IR BT —
(1) Os, Ir, Pt (2) Ca, Sr, Ba | (1) Os, Ir, Pt (2) Ca, Sr, Ba
(3) Fe, Co, Ni (4) Ru, Rh, Pt : (3) Fe, Co, Ni (4) Ru, Rh, Pt
Which is the incorrect about bond angle : | 43. ST P d IR H FT TId © —
(1) NH, > NF, (2) NF, < PF, | (1) NH, > NF, (2) NF, < PF,
(3) NH, > PH, (4) NH, > H,0 I (3) NH, > PH, (4) NH, > H,0
Which one of the following has maximum number of I 44, T 9 9 frad waitys 9] 3ufeerd g2
I
I
I
I
I
I

(4) 1 gm. of Li (At. mass = 7)
|

(4)1 T® Li (A 91 = 7)

Space for Rough Work

PCP, Sikar

Class : XI/Q-7 I

IIT-JEE | NEET | OLYMPIADS 11
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45.

46.

47.

48.

49.

50.

51.

PRINCE OLYMPIAD EXAMINATION I 9 PCP ||

The energies E, and E, of two radiations are 25 ¢V and | 45.

50 eV respectively. The relation between their wave |

lengths 4, and 2, are -

I
() 2,=4, (2) 4, =424, :
(3) 4,=22, 4) /11=% :
Among the following which has the highest cation to | 46.
anion size ratio. |
(1) Csl (2) LiF I
(3) CsF (4) NaF |
An element has atomic number 33, it will be placed in | 47,
the periodic table in the period - I
(1) First (2) Fifth |
(3) Third (4) Fourth I
Which of the molecule does not possess a permanent | 48,
dipole moment ? I
(1) CS, (2) H,0 |
(3)HS 4) SO, I
The hybridisations of atomic orbitals of nitrogen in | 49.
NOJ,NO; and NH; are |
(1) sp, sp* and sp? (2) sp?, sp* and sp I
(3) sp, sp? and sp? (4) sp?, sp and sp? I
The total number of valence electrons in 4.2g of N ; ion : 50.

is (N, is the Avogadro's number)
() 21N, (2)42N,
(3) L6 N, (4)32N,

79¢V. The first ionization energy of this atom is about
(1) 65.4eV (2) 51.8eV
(3) 24.6eV 4) 27.2¢V

I

I

I
The energy needed to convert helium atom to He™ is - I 51.

I

I

I

el & faferon &1 S E; @91 B, %me: 25¢V aen
50 eV el TR qUTes 4, dum 4, W wERY © -

(1) Ay =4, (2) A =44,

A
(3) A, =27, (4) ;“1:72

= ¥ 9 fFush oMM T8 U & SR &1 ST
et € -

(1) CsI ) LiF

(3) CsF (4) NaF

e cdl 1 TREIT] I 33 Bl 39 STed wron o fee
3T | @ ST -

(1) o9 (2) 9=

(3) Tt (4) =gl

= o 9 forg o1y o vl fgya oMol eTgufeera e
T -

(1) CS, (2) H,0

(3)H,S (4) SO,

NO*,NO; 3R NH! ¥ Tegiom 1 TRam Hesi
F TR T -

(1) sp, sp? 3R sp? (2) sp?, sp333ﬁ'{ sp

(3) sp, spz?::ﬁ'{ sp? 4) sp?, sp?::ﬁ'{ sp?
N;W$4.2gﬁ®ﬁsﬁa§:ﬁaﬁaﬁméz

(N, STERTS T He ?)
(1) 2.1 N, ) 42N,
() 16N, 432N,

Fiferay T 1 He? # ufEfid &0 & T sewash
Foll -79¢V €1 TH TRAW] ST HoH STEHHT Foll T 2
(1) 65.4eV (2) 51.8¢V
(3) 24.6eV (4) 27.2eV

Space for Rough Work
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52.

53.

54.

55.

56.

57.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Which molecular geometry is least likely to result from
a trigonal bipyramidal electron geometry ?

(1) Trigonal planar

(2) Sec-saw

(3) Linear

(4) T-shaped

Which is mismatched regarding the shape ?

(1) XeF, = Square planer

(2) XeOF, = Square Pyramidal

(3) XeF, = Distorted Octahedral

(4) XeO, = Bent Shape

Magnetic moment of 2.83 BM is given by which of the
following ions ?

(Atno: Ti=22; Cr=24; Mn=25; Ni=28)

(1) T** (2) Ni*

3) Cr** (4) Mn*

What is the maximum wavelength in the Lyman series
of He' ion ?

(1) 3R (2) 1/3R

3) I/R 4) 2R

Carbon suboxide (C,0,) has

(1) Linear structure

(2) Bent structure

(3) Trigonal structure

(4) Disorted tetrahedral structure

The ionic radii of N*, Ne¢ and AI** (inA)
(1)1.36,1.40,1.71

(2)1.36,1.71,1.40

(3)1.71,1.40,1.36

(4)1.71,1.36,1.40

| 52.

53.

54.

55.

56.

57.

T ity fEifeet seeg sathfa & o w=ed
A G ST0] D ST IS FHH S I G 7 2
(1) Freprofia g9aea

(2) Sl

(3) fa=w

(4) T-3THfa

egfa & ey H HH W oAHd ¢ 2

(1) XeF, = = wHaelta

(2) XeOF, = =1 fyufHeta

(3) XeF, = fasa sm=herahi

(4) XeO, = dfsha 3fd

2.83 BM =1 gaeh1d vl Tefafea o o fofg stmed
5 e S @ 2

(U] eI : Ti=22; Cr=24; Mn=25; Ni=28)

(1) Ti> (2) Niz*

3) Cr** (4) Mn*

Het 3187 &1 @igdq ooft o sifrenan a@eed = 82

(1) 3R (2) 1/3R
(3) /R (4) 2R
FET FEsaEES (C,0,) &

(1) T 9@

(2) gt T wE

(3) Tr=Toia dE

(4) foma Iqohe=ha qE

N>, Ne and AP (inA) # 3wl e e erft:
(1)1.36,1.40, 1.71

(2)1.36,1.71, 1.40

(3)1.71,1.40, 1.36

(4)1.71,1.36, 1.40

Space for Rough Work
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ment will not change:
(1) N, > N (2) N, > NJ

PRINCE OLYMPIAD EXAMINATION I 9 PCP ||

58. In which of the following the value of magnetic mo- I 58. T @ 9 fored g@aa SZITEIE’f =1 A URafaq &l g
(1) N, > N (2) N, > NJ
(3) 0,->0; “4) 0] - 0]

(3) 0, - 0] “4) 0] - 0]
59. The correct order of acidic strength is :
(1) HCIO > HCIO, > HCIO, > HCIO
(2) H,PO, > H,PO, > H,PO,
(3) HCIO, > H,SO, > HNO,
(4) All of these
60. I; and 1, have same :
(1) Geometry
(2) Number of lone pair
(3) Bond angle
(4) None of these

(4) ST g+t
I, 7or I, W99 @ € -
(1) samifa

60.

(3) 9 &M

|
|
|
|
|
|
|
|
|
|
|
|
I
I 4) = § #E T8

59. 3TRATa Gelg w1 W A

(1) HCIO > HCIO, > HCIO, > HCIO
(2) H,pO, > H,PO, > H,PO,

(3) HCIO, > H.SO, > HNO,

(2) THIF! SeFRH H H HEA

Space for Rough Work

PCP, Sikar

Class : XI/Q-7 I
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PRINCE ULYMPIAD EXAMINATION

F =pcer NI

E( BIOLDGY [ ————

ICBN stands for: | 61. ICBN =1 wsfyfd sar 2
(1) Indian Congress of Biological Names | (1) 3fream =9 3 amEfarawe 0
(2) International Code of Botanical Nomenclature | (2) TTERHA IS F Al AR
(3) International Congress of Biological Names : (3) ST U 3TF AFGISIhel 5
(4) Indian Code of Botanical Nomenclature | (4) e Fie AR dAHEwT TR
62. The quick referral system in taxonomic studies is | 62. iRt =gl | g9 WY WUmelt R 272
(1) Museum (2) Herbarium | (1) U= (2) STt HaEeTd
(3) Botanical Gardens (4) Zoological Parks | (3) FEf 3TN (4) g v
63. Fungi usually store the reserve food material in the form I FHosh AHd: SR @ |t 6 +® ®9 °
of | T e 2
(1) Starch (2) Glycogen and oil | (1) == (2) RS AR o
(3) Lipid (4) Protein I (3) == (4) TEA
64. Consider the following sets of some animals. The set | 64. FF g & THAared 92 W =R ) o' g oo
that consists of all animals belonging to the same phylum I goft wig Tw @ g 9 et @
is:
(1) Pinctada, Aplysia, Chactopleura I 1) fyeer, Ui, Elﬁ@k_*{{r
(2) Dentallium, Pila, Echinus | (2) Sferam, wrEel, gHETE
(3) Asterias, Antedon, Ascidia l (3) T=Eifug, t=er, ufafssn
(4) Adamsia, Gorgonia, Pleurobrachia : (4) W= figan, it wsE
65. How many of the following is the member of | 65. ffafed 5 9 ffa Rt & 953 32
Echinodermata? |
Sea hare, Sea cucumber, Sea lily, Sea urchin, Sea- pen, | B T, ST i, s forel!, st af, ESLE
Sea fan, Sea ancmone I TU=seh, THaT e, TsT T
(17 2)4 | El; 7 22; 4
(3)3 42 | 3)3 4)2
66. Which of the following is an example of whorled | 66. f=fafea & & T wfshel TUISaTE 1 Th ST &2
phyllotaxy? I
(1) Alstonia (2) Mustard | (1) et (2) =&t
(3) Sunflower (4) China rose | (3) et (4) IS8
Space for Rough Work
PCP sikar Class : XI/Q-7 I IT-JEE | NEET | OLYMPIADS 15
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67.

68.

69.

70.

71.

72.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Fat soluble pigments like xanthophylls present in: are

(1) Chromoplasts

(2) Aleuroplasts

(3) Elaioplasts

(4) Amyloplasts

Endomembrane system is formed because of the

(1) coordinated functions of the membranous organelles

(2) coordinated functions of the membraneless
organelles

(3) coordinated functions of all cell organelles

(4) All of these

The complex formed by a pair of synapsed homologous

chromosomes is called

(1) equatorial plate

(2) Kinetochore

(3) bivalent

(4) axoneme

Reduction in pH of blood will

(1) reduce the blood supply of the brain

(2) decrease the affinity of hemoglobin with oxygen

(3) release bicarbonate ions by the liver

(4) reduce the rate of heart beat

Anabolic steroids are

(1) Effective

(2) Synthetic

(3) Natural

(4) Ineffective

versions of testosterone.

Place of Keeping and Studying dry plants is :-
(1) Arboretum (2) Museum
(3) Vasculum (4) Herbarium

I 67.

68.
69.

70.
71.

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
| 72.
I

I

I

=@ el Juish S9 TR diaanis sufed g #-
(1) avitaeras o

(2) weTa® o

(3) dasEEd H

(4) Hearaw o

a1: Tafeers 9 frgs o Tfta 2 22

(1) Toeelar el =% wof=a =

(2) Toeeiifed il & wufag =

(3) 99T HITSRT 3T & THf=A Fd
(4) 3 gt

o gftmy =1 FEY T SISl gagiaa usma Tt
R G s FEd B

(1) A=Fad e

(2) Tdfeg

(3) T

(4) SAereA

W & pHH & 9 7

(1) AfET=F ! W 1 Y o Hel

(2) STRdS & Wy Hreltsd Ft dega 5 A
(3) Id G SEHEHE A 1 FHe H
(4) &89 W HT X H FAI

TAEeh SIS TREIT & ... G 2
(1) Feit

(2) feefesw

(3) W

(4) STgTat

g@ Uil Sl W o A O -
(1) A (2) =it

(3) e (4) TSI

Space for Rough Work
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73. Match the Column - I with Column - II for Housefly I 73. Match the Column - I with Column - II for Housefly

(4) TEFT] 2 F YA HEFH ® A
76. Sl o1 qeRiTeR! AW TR wmn § fean S ®

(4) Sperm with 2 Polar nuclei

76. The technical Names of Organisms are given in the

classification and select the correct option using the | classification and select the correct option using the
codes given below :- | codes given below -
Column-I Column-11 | Shiea-1 Shiea-11
A. Family i Diptera : A. ®fieh i feww
B. Order ii. Arthropoda | B. @ i, e
C. Class iii. Muscidae | C. = . HfESt
D. Phylum iv. Insecta : D. &= v. TR
Codes : | Codes :
A B C D | A B C D
1 v i i i | a1 v i i i
@ i i iv i I @ i i iv i
G) i i iv i | G) i i iv i
4) iv i ii i I 4) iv i ii i
74. Cyanobacteria are - I 74. WEAETRG -
(1) Only freshwater | (1) Fa &8 T
(2) Only marine | (2) Faa st
(3) Only Terrestrial | (3) Fad T
(4) Aquatic & Terrestrial : (4) ST 3 e
75. Plasmogamy is the fusion of - | 75. TASARHT Head ? -
(1) 2 Haploid cells including their nuclei | (1) 2 3o IR & el Al
(2) 2 Haploid cells without nuclear fusion : (2) 2 3Tfora ifeTeRTsT & o1 S &l
(3) Sperm & Egg | (3) T = U=
|
|

language - I

(1) Latin (2) Greek | (1) oifes (2) =

(3) French (4) English I ()% (4) TS

|

Space for Rough Work

PCP, Sikar Class : XI/Q-7 I IIT-JEE | NEET | OLYMPIADS 17



77.

78.

79.

80.

The Indian Botanical Garden and the National Botanical
Research Institute are located respectively at :

(1) Pune and Howrah

(2) Howrah and Lucknow

(3) Darjeeling and Lucknow

(4) Shimla and Dehradun

YRS St S SR TS ot ST E e
HEST: el Ted %

(1) g1 3R 2T

() TEE! AR TS

(3) TSI iR TrEms

(4) farmen iR Teagd

| www. princeeduhub.com || priNcE oLympiaD ExaMinaTion | o PcP i
Which of the following enzyme is absent in lysosome. I AEEEm o i o STguferd ghar ? -
(1) Lipase & Proteases | (1) AU 3 WS
(2) Carbohydrase I (2) SIS
(3) Polymerases | (3) Hicrats
(4) Nucleases : (4) RIS
Match the following Hormone with the respective | T & AT % WY gofad i -
disease :- |
(a) Insulin (i) Addison’s discase : (a) gt () TEEF Fw I
(b) Thyroxin (i) Diabetes Insipidus | (b) oEutoEr (i) SEEEN Tded
(c) Corticoids (i) Acromegaly | (c) FIwEEH (iii) ESRTERCAT
(d) Growth Hormone  (iv) Goiter I (d) gfs 7= (iv) TTRI=X

(v) Diabetes Mellitus | (v) SEEES Hidew
Select the correct option : I el fashey 1 =99 W -
A B C D | A B C D
(1) i v i i I (1) i v i i
) v i i iii I ) v i i iii
3) i v iii i | 3) i v iii i
4) v iv i i | 4) v iv i i
All are the disease of Lungs except :- : e o © Tord siget w1t Ot Bl § et 0 2
(1) Asthma (2) Bronchitis | (1) sT&am (2) SiwESE
(3) Jaundice (4) Pneumonia : (3) diferan (4) =gt
I
I
I
I
I
I
I
|

Space for Rough Work
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81.

82.

83.

84.

85.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Systema Naturag is .

(1) Publication of Linnacus

(2) Institute for classification studies

(3) Method to classify organisms

(4) Evolutionary relationship studies

Identify the incorrectly matched pair :

(1) Diatoms : Chief producers in oceans

(2) Dinoflagellates : Red tides

(3) Slime moulds : Spores dispersed by water
(4) Euglenoids : Protein rich pellicle

A marine cartilaginous fish that can produce electric
current is .

(1) Pristis (2) Torpedo

(3) Trygon (4) Scoliodon

Which one of the following is not a characteristic of
phylum-Annelida ?

(1) Closed circulatory system

(2) Segmentation

(3) Pscudococlomate

(4) Ventral nerve cord

The given diagram is of.

|81, fomm g (v waf) ¥

82.

83.

84.

85.

(1) faft=a =1 g

(2) afieRLo 3=aa & fo Heas

(3) St =1 afid & i fafy

(4) foehToaTsl day 31eaaq

T e TR T g A e il

(1) TFRY: HETEIR ° & SeISH

(2) SEATRISE: @ a

(3) 3TaUT FHash: S § GRfEE s

(4) TEHES: U 995 agoh

T 5 SIS "Aoel o fagd 9 1 3R
Tehell 2

(1) fafes (2) e

(3) A (4) wifaareH

Frreferiea o @S- Tk S-Tferer w1 o e
#?

(1) % qRE=R1 a5

PRCEEER]

(3) HHTet

(4) AR dfrehT T

IERIRIRIEE: (£ I Eald

(1) Cnidoblast (2) Cnidocytes (1) SR (2) oI

(3) Choanocytes (4) Both (1) and (2) (3) FTAFIITHT “4) 1 3R 2 <
Space for Rough Work
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86. Actinomorphic means. | 86. Trawmfis =1 a1ef ¥
(1) Bilateral symmetry (2) Radial symmetry : (1) Tgured wmfafa (2) =1ia wmfafa
(3) Bisexuality (4) Unisexuality | (3) SHAfETEa (4) et
87. Which of the following has chlorophyll in their stem to | 87. f=fafed ® o fFad g deewm &0 & fag & o
carry out photosynthesis ? | Tuigla g g ?
(1) Opuntia (2) Citrus : (1) AT (2) Tagg
(3) Bougainvillea (4) Cucumber | (3) FrAfafern (4) Fhet
88. What are Singer and Nicolson known for ? | 88. R R frapieras fFg forg < o & 2
(1) one-gene-one-enzyme hypothesis | (1) TH-S-Th-UaEH e
(2) Plasma membrane modifications | (2) Sag= Fall A
(3) Fluid-mosaic model of plasma membrane I (3) SEsea wan #1 W fFHR A
(4) Structure of DNA | (4) SEAT & G
89. Crossing over occurs in | 89. 9 fodima qm@n ST 2
(1) Leptotene (2) Zygotene | (1) T=rd (2) STEEA
(3) Pachytene (4) Diplotene | (3) TR (4) Tewien
90. During meiosis, the sister chromatids separate during : I 90. STEREITOTSE & 3R, SRR Lics e S & HEA 3T
| B W[ -
(1) Anaphase 11 (2) Anaphase 1 | (1) ge=rere 11 (2) gv=EE 1
(3) The S phase (4) Synapsis : (3) S=U (4) =IHA
Space for Rough Work
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PRINCE OLYMPIAD EXAMINATION

F =pcer NI

E(MATJE

92.

93.

94.

05,2,45,8,125.7
(1) 16 Q)17
(3) 165 4) 18

In a certain code, BELIEF is written as AFKKDI. how
1s SELDOM written in the code?

(1) RDKCNL

(2) RFKENM

(3) RFKFNP

(4) TFKENP

Out of four figures which figure will best represent the
relation-ship amongst the classes :

©

Sparrow, Birds, Mice

(D 2

© o
E9] /@

A man from point A walks 20 m. to the north, then turns

3) “4)

left and walks 40 m. again turns left and walks 20 m. At
last he turns right and walk 20 m. to reached at point B.
Find distance and Direction from point A to B. ?

91.

93.

94.

0.5,2,45,8,12.5,7

(1) 16 ()17

(3) 16.5 (4) 18

T f1f¥=d #wie 9 °, ‘BELIEF’ &1  AFKKDI’ feren
S €, 9 SELDOM =i ¥ foan Sram?

(1) RDKCNL

(2) RFKENM

(3) RFKFNP

(4) TFKENP

& T TR el § wH-u e fafa= € el gt
o wd) uey wnfyd e § 2

Tiien, welt, gea

© o
E9] @

T e T ‘A’ 9 STR ST W 20 W wer 8,
o8 g 7 3R 40 . =orar 21 T 96 gk 20 .
=Tl 21 3fd W =9 I1d gedr § iR fag ‘B’ W g #
faw 20 . =ora 21 @ H oy fig Y, A BH
S Rt 50 % aen frw fow A ¥ 2

©

(D 2

3) “4)

(1) 20 m./West (2) 40 m /East (1) 20 #t./afe=m (2) 40 w./q
(3) 60 m./West (4) 60 m./East (3) 60 Hi./afe=m (4) 60 H./q
Space for Rough Work
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95.

96.

97.

98.

99.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

- . . . |
Pointing to an old man Ramesh said, “His son is my | 95. F% AR i 3T I Fxd gL T 7 Fal '’ IR [

son’s uncle”. How is the old man related to Ramesh
(1) Brother

(2) Uncle

(3) Father

(4) Grandfather

How many Leap Years in 800 years?
(1)200 (2)202

(3) 194 4) 197

How many triangles are there in the following figure ?

(a) 20 (b) 24

(c) 28 (d) 32

The minute hand of a clock is in North-East at 4:30.
Then in which direction the hour hand will be at 10:30
(1) South

(2) North-West

(3) West

(4) North-East

In a zoo, there are Rabbits and Pigeons. If heads are
counted, there are 200 and if legs are counted, there are
580. How many pigeons are there ?

96.

97.

98.

W = R TG S W9 Y G Sy
(1) ¥

(2) ==
(3) faa
(4) =T
800 =i # feraw &ftg = B 217
(1) 200 (2) 202
(3) 194 4) 197

f T ot For P ¥ 0

(a) 20 (b) 24

(c) 28 (d) 32

T wE) I e arelt g8 4:30 R Sw-qd fawn # 7, A
10:30 11 =< Areht §8 foe fgen # arf)

(1) f&gor

(2) ST-ufe=m

(3) ufe=m

(4) ST

99, wx fafgarr ®, @i IR Fam €1 3 R =1 " 200

3R M Y T 580 ¥ A FAR T A HK 2

(1)90 (1) 90
(2) 100 (2) 100
(3) 110 (3) 110
(4) 120 (4) 120
Space for Rough Work
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Direction (100) : In the following question a mirror | et (100) : & T W aﬂm T ¥ wEE &
is placed on line AB. Then which of the answer figures is | L) 3Tepfa vt W ufafers 21 =& guur 1 AB feafa o T

the correct image of the given figure ? | W ?

100. Question Figure : | 100. Question Figure :
JiL JiL
B B

Answer Figure

£ | [ % | 9*

(1) 2 3) (4)

Answer Figure

£ | [ % | 9*

(D 2 3) “4)

Space for Rough Work
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Ans. 1 3 2 3 4 2 1 3 3 1 4 3 2 3 3 3 3 1 3 3
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